EHEREEEREREAE (FEVYEY 7HPERR) SRR

FTART AR b

7—F 704wy H 1 (EX - FX)

77— K- 7oty H2 (F}1xX)

E EE = SINEK
DTP 2
T—AN—=2X 3
R—LR— 5

18 H26 (B4 —E X 13
Ny aAvTF—2AH GIREEELR) 13
ELs)—=—2 4 10

6 1R 46
DTP 1
T—AN=X 1
R—hR— 3
BIRXHY —E X 9

e I e R G e g) 11
ELs)—=2 4 8
FTA4RATVRARZV B 3

ir7 /&R 36
DTP 4
T—RR=2R 1
R—bhR— 3
BIRXH —E X 4

20 | 8 oo 20 GMEEZEEM) 5
ELs)—=2 4 8
FT4RATVRARZV B 5

it 7R 34
DTP 5
T—RARN—2X 1
R—LR= 3
BXY—E X 9
Ry aAvTF—2ANH GIREEELRP) 10

21 H29 ELs)—=2 4 16
FT4RATVRARZV B 8
7—R--7Aatyy1 (X AX) 3
77— K- 7oty H2 (F1X) 7

5T 8TEH 95 62
DTP 4
R—LR— 4
RS —EX 16
Ny aAvTF—2AH GIREEELR) 2

22 H30 [z y—=v% 14
FTARTVRRZRY R 5
7—K 70ty H1 (FEX - 4
7—FK--7OotvH2 (f1xX) 11

=t 7B 8Eik 60

DTP 3
R—LhR— 3

BEH —E 13

Ny AT —2 AN GIREEEIRF) 2

’3 Rl [EXZV—=>7 15
4

7

8

6

oy xr T

5t 8@ H 9%k

(o3}
—




EH

ZhEXK

24

R2

DTP

3

R—LR—=

2

BEY—EX (fik)

ey )—=>7 (Hik)

FTART AR b

7—K-7o+EyH 1l (EX - M)

J—K .70ty H2 (F1X)

GRS D7

5f 5 H 6%kt

25

R3

DTP

R— L=

BEY—E X

Xy aryT—=42 AN (FREEELRRM)

oy —=—>o7

FTART AR b

7—K 7oty y 1l (EX - M)

7J— K- 7oty H2 (F]Ix)

T

5t 81 H 9%kt

26

R4

DTP

7—F-704eyH 1 (EX - FX)

77— K- 7oty H2 (FIxX)

Loy —=2

BRY—EX

Ny aAvTF—2 AN (FIREEHEIR)

R— L=

FTART AR K

BNy x>

=T 88 H 9%

21

R5

DTP

R—LR—=

WRY—EX

Xy AT =2 AN GIREEEEPT)

Loy —=24

FTA4RT AR K

7—FK--7ateyH1 (FEX -

7—K .- 7oty H2 (FIx)

BaNy x>

AR (FE R ML — 3 VEER)

i 9 H 105

o = = ol = w — N
wl\)w\lm\lhmowo'lwl\)\ICA)U)OO#O'I@OWLOI\)#U'II\)@I—‘OI—‘O'I\II\)@@O'I|




